



**Bharathidasan University**  
Tiruchirappalli - 620 024  
Tamil Nadu, India

**Programme: M.Sc., Mathematics**

Course Title : Measure Theory and Integrations

Course Code : 21M11CC

Unit I

**Lebesgue Outermeasure of Intervals**

**Dr. V. Piramanantham**

Professor

Department of Mathematics



## Example

Show that for any set  $E$ ,  $m^*(E) = m^*(E + x)$ .

## Proof.

$\Rightarrow$  Let  $\epsilon > 0$  be any number. Then there  $\exists \{I_k\}_{k=1}^{\infty}$  such that  $E \subseteq \bigcup_{k=1}^{\infty} I_k$  and  $m^*(E) + \epsilon \geq \sum_{k=1}^{\infty} l(I_k)$ . Since,  $E + x \subseteq \bigcup_{k=1}^{\infty} (I_k + x)$ .

$$\begin{aligned} m^*(E + x) &\leq \sum_{k=1}^{\infty} l(I_k + x). \\ &= \sum_{k=1}^{\infty} l(I_k) \end{aligned}$$

$$m^*(E + x) \leq m^*(E) + \epsilon$$

$$m^*(E + x) \leq m^*(E).$$

## Theorem

If  $I$  is an interval then  $m^*(I) = l(I)$ .

## Proof.

**case(i)**  $I = [a, b]$ . Let  $\epsilon > 0$  be any number then  
 $I_1 = [a, b + \epsilon)$ ,  $I_2 = I_3 = \dots = \emptyset$ . Then

$$\begin{aligned} m^*(I) &\leq \sum_{k=1}^{\infty} l(I_k) = (b - a) + \epsilon. \\ &= l(I) + \epsilon. \end{aligned}$$

Therefore  $m^*(I) \leq l(I) + \epsilon$ .



## Proof.

$$m^*(I) \leq I(I). \quad (1)$$

$$m^*(I) = \inf \left\{ \sum I(I_k) : E \subset \bigcup_{k=1}^{\infty} I_k, \quad I_k \subseteq [a, b] \right\}$$

$\Leftarrow$  For any  $\epsilon > 0$ , then there  $\exists I_k = [a_k, b_k)$  such that  $I \subseteq \bigcup_{k=1}^{\infty} I_k$ . and

$$m^*(I) + \epsilon \geq \sum_{k=1}^{\infty} I(I_k).$$

$$\sum I(I_k) = \sum I(I_k) + \epsilon.$$

## Proof.

Set  $I_k' = (a_k + \frac{\epsilon}{2^k}, b_k)$ , for all  $k$ ,  $I_k$  is open

$$\sum_{k=1}^{\infty} l(I_k') + \epsilon = \sum_{k=1}^{\infty} l(I_k).$$

$$I \subseteq \bigcup_{k=1}^{\infty} I_k'.$$

Since  $I$  is compact, we choose a finite subcover  $\{J_1, J_2, \dots, J_N\}$  of  $I$  in  $I_{k=1}^{\infty}$  in such a way that no  $J$ 's is contained in the other.

Let  $J_k = (c_k, d_k)$ ,  $k = 1, 2, \dots, N$ .

Now we rearrange  $c_1 \leq c_2 \leq \dots \leq c_N$ .

## Proof.

$$\begin{aligned}d_N - c_1 &= d_N - c_N + c_N - d_{N-1} + d_{N-1} - c_{N-1} + c_{N-1} - \cdots + \\ &\quad c_2 - d_1 + d_1 - c_1 \\ &= (d_N - c_N) + (c_N - d_{N-1}) + (d_{N-1} - c_{N-1}) + \cdots \\ &\quad + (c_2 - d_1) + (d_1 - c_1).\end{aligned}$$

$$\begin{aligned}&= \sum_{k=1}^N (d_k - c_k) + \sum_{k=1}^{N-1} (c_{k+1} - d_k) \\ &= \sum_{k=1}^N (d_k - c_k) - \sum_{k=1}^{N-1} (d_k - c_{k+1}), \\ &< \sum_{k=1}^N (d_k - c_k) = \sum_{k=1}^N I(J_k) \leq \sum_{k=1}^N I(I_k').\end{aligned}$$

$$b - a < d_N - c_1$$

$$\begin{aligned} &\leq \sum_{k=1}^{\infty} l(I_k') \\ &= \sum_{k=1}^{\infty} (b_k - a_k + \epsilon |2^k|) \\ &= \sum_{k=1}^{\infty} (b_k - a_k) + \sum_{k=1}^{\infty} \epsilon |2^k|. \\ &= \sum_{k=1}^{\infty} l(I_k) + \epsilon. \end{aligned}$$

$$b - a \leq m^*(I) + 2\epsilon.$$

## Proof.

Since  $\epsilon > 0$  is arbitrary,

$$b - a \leq m^*(I) \quad (2)$$

from (6) and (7),

$$m^*(I) = l(I).$$

**case(ii)**  $I = [a, b)$ .

Let  $\epsilon > 0$ , be given, set  $I' = [a, b + \epsilon]$ . Then

$$m^*(I) \leq m^*(I') = (b - a) + \epsilon. \quad (3)$$



## Proof.

set  $I'' = [a, b - \epsilon]$

$$m^*(I) \geq m^*(I'') = (b - a) - \epsilon. \quad (4)$$

from (1.3) and (1.4)

$$-\epsilon \leq m^*(I) - (b - a) \leq \epsilon$$

$$\Rightarrow |m^*(I) - (b - a)| \leq \epsilon$$

Since  $\epsilon$  is arbitrary,

$$m^*(I) = b - a = l(I).$$

For other finite interval, the proof are similar to case (ii)

## Proof.

**case(iii)**  $I = (-\infty, a)$ .

$$m^*(I) = +\infty.$$

Let us take a number  $M > 0$ . Set  $J = [a - M, a)$

$$J \subseteq I \Rightarrow m^*(J) \leq m^*(I),$$

$$\Rightarrow M \leq m^*(I).$$

$$m^*(I) = +\infty = l(I).$$

Similarly we prove the result for other infinite intervals.